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Question Number : 1 Question Id : 206205661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following properties reflects that various tasks can be performed on a computer?

Options:

| Versatility

5 % Storage
= ® Reliability

4 » Efficiency

Question Number : 1 Question Id : 206205661 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| » TEdeeferar (Versatility)

, « STSNUT (Storage)
.« TraEwiTa (Reliability)

4 « carar (Efficiency)

Question Number : 2 Question Id : 206205662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Desktops and Laptops are also known as:
Options:

, % Mainframe computers

-  Personal computers

5 % Super computers

4 % Advanced calculators

Question Number : 2 Question Id : 206205662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 3 Question Id : 206205663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

To produce high quality (hard copy) in color, you would want to use a/an:
Options:

1 #% RGB monitor

&,

> « Plotter
5 w Ink-jet printer

4 w Laser printer

Question Number : 3 Question Id : 206205663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 206205664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“Home” and “End” keys are also called:



Options:

, « Navigation keys

> % Control keys

- » Function keys

4 % Alphanumeric keys

Question Number : 4 Question Id : 206205664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 206205665 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is primarily used for registers and cache memory?

Options:
1 « SRAM

> % DRAM
s % ROM

4 % PROM

Question Number : 5 Question Id : 206205665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| v TEIHA (SRAM)



, « 37 (DRAM)

« T (ROM)

=2

, » 9RE (PROM)

Question Number : 6 Question Id : 206205666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is generally used to store “bootstrap program™ that starts a computer?

Options:
; % SRAM

> ® DRAM
- % Cache memory

4 v ROM

Question Number : 6 Question Id : 206205666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 206205667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) BIOS stands for Binary Input/Output System.
1I) DRAM is slower than SRAM.

Options:



;% I- False, II - False
5> R I-True, II- True
5 % 1-True, II- False

4 « 1-False, II - True

Question Number : 7 Question Id : 206205667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 206205668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

SET-1 SET-2
I) Bits A) SRAM
IT) Capacitors B) DRAM
IIT) Flip-Flops C) Binary digits
Options:

, % I-B.II-C,II-A
, » I-AII-B,II-C
2 % I-C.I-AII-B

L v I-C.II-B.II-A



Question Number : 8 Question Id : 206205668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 206205669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an example of an optical disk?
Options:

, « Digital versatile disks

» % Magnetic disks
5 % Memory disks

4 % Data bus disks

Question Number : 9 Question Id : 206205669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 206205670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following statements is false?

Options:
L ® Virus scanner is a type of utility software.

- % A system software is used to manage computer resources and their functioning.

-  Microsoft PowerPoint is an example of a word processor.

, % File manager and disk defragmenter are the examples of utility software.

Question Number : 10 Question Id : 206205670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 11 Question Id : 206205671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Both Unix and Linux are the examples of operating system.

Options:
1 #% Multiuser and real-time

o  Multiuser and multiprogramming



5 » Single-user and multi-tasking

4 % Single-user and multiprogramming

Question Number : 11 Question Id : 206205671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 206205672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following statements is false?

Options:
; w Linux is an open-source software.

> % Wwindows is a proprietary software.
=z % Adobe’s Acrobat Reader is a freeware.

4  Adobe’s Acrobat Reader is an open-source software.

Question Number : 12 Question Id : 206205672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 206205673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Total storage capacity of a computer with 3 RAM chips of capacity 0.5 MB, 128 KB and 512 Bytes is:

Options:
; % 2.5MB

> % 740.5KB
- % 639.5KB

4 « 640.5KB

Question Number : 13 Question Id : 206205673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
0.5 MB, 128 KB 3 512 a/seH ¥ &fAaT & 3 17 =9 arer Fvgg 1 Fof TR atdar g

Options:

. % 25 MB

. % 740.5 KB
- % 639.5 KB

. v 640.5 KB

Question Number : 14 Question Id : 206205674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is equivalent to 3 Gigabytes?

Options:

, % 3000 Megabytes

o o 3072 Megabytes
- % 3000000 Kilobytes

, % 3000000000 Bytes



Question Number : 14 Question Id : 206205674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 15 Question Id : 206205675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the followings is NOT a valid window’s resizing button?

Options:
1 % Minimize

- % Maximize/Restore

&,

5 v Unfold

4 % Close

Question Number : 15 Question Id : 206205675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 16 Question Id : 206205676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Writing content to a CD or DVD is called:
Options:

, w Replicating

> w Mirroring
5 » Ripping

4  Burning

Question Number : 16 Question Id : 206205676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 17 Question Id : 206205677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following starts the “chain reaction™ which ends with the entire operating system being loaded?
Options:
, « Bootstrap loader

> % Operating system

z % Linker

4 » Compiler

Question Number : 17 Question Id : 206205677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 18 Question Id : 206205678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A display device with screen resolution 1280 = 800 uses horizontal and vertical pixels.
Options:

; % 800, 1280

» « 1280, 800

. % 1280, 1280

. % 800,800

Question Number : 18 Question Id : 206205678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. » 800, 1280
, » 1280, 800
. = 1280, 1280

, = 800, 800

Question Number : 19 Question Id : 206205679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I For a tnaximized window, the “maxinize™ buffon becomes “rastora™ nton.
o The “close™ button closes a window and the corresponding application, if no other window for the same
applicarion 1% open.



Options:
1 ¢ 1-Tre, II-True

5 % L- False. II - False
z % 1-True II-False

4 % L+ False. II - True

Question Number : 19 Question Id : 206205679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 20 Question Id : 206205680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

SET-1 SET-2
I) 1280 x 720 A) Aspect ratio
IT) 1920 = 1080 B) HD or HD Ready resolution
1) 16 : 9 C) Full HD resolution
Options:

, % I-AII-C.II-B
, « [-C.II-AI-B

2 [-B.II-C,II-A



, w [-C.II-B.II-A

Question Number : 20 Question Id : 206205680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 206205681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
With respect to IT certifications, MCSE stands for:

Options:
, w» Microsoft Certified Systems Experience

> % Microsoft Certified Solutions Experience
- » Microsoft Certified Systems Expert

4  Microsoft Certified Solutions Expert

Question Number : 21 Question Id : 206205681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 22 Question Id : 206205682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The full form of VIRUS is:
Options:
1 % Visual Information Resources Under Seize

u

&,

> « Vital Information Resources Under Seize

Vital Information Resources of Unknown Size

Ll
®

Visual Information Resources of Unknown Size

o
®

Question Number : 22 Question Id : 206205682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 206205683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is used (o disgble or re-enable software, device drivers and Windows services that mn at startup?
Options:

, « MSConfig

> % REGEDIT



2 % CMD

4 % DISABLE

Question Number : 23 Question Id : 206205683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, « MSConfig

., » REGEDIT
5 # CMD

, = DISABLE

Question Number : 24 Question Id : 206205684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following commands can be used to manage or configure your Windows firewall?

Options:

, » MSConfig

-  Firewall.cpl

5 % Wuapp

4 % Cmd

Question Number : 24 Question Id : 206205684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, = MSConfig
-  Firewall.cpl

- » Wuapp



Question Number : 25 Question Id : 206205685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Windows command is used to identify and fix certain hard drive errors?

Options:
1 & FIX

> « CHKDSK
s % VIRUS

4 % CMD

Question Number : 25 Question Id : 206205685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

= FIX
. v CHKDSK
- = VIRUS

4 % CMD

Question Number : 26 Question Id : 206205686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

DVD stands for:

Options:

1 Digital Video Disk

> % Double Video Drive
= % Disk Virtual Drive

4 » Digital Video Data

Question Number : 26 Question Id : 206205686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

DVD & 5T &:
Options:
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Question Number : 27 Question Id : 206205687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a valid compressed file extension?

Options:
1 ® AR

~ % RAR
2 ® ART

4 « .COMP

Question Number : 27 Question Id : 206205687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TafefEa & @ &9 a1 F9T= w5 F7 98 vageld J6r 87
Options:

| % ZIP
, % RAR
2 = .ARJ

4 v .COMP

Question Number : 28 Question Id : 206205688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A(n) is a small image that represents a program. an instruction, a file, or some other object.

Options:



, » Keyboard

> % Interface
= % Menu

4 « Icon

Question Number : 28 Question Id : 206205688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 29 Question Id : 206205689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following DOS commands is used to compare the contents of two or more files.

Options:
, » EQUAL

> % COMPARE
2 ® CMP

4 + COMP

Question Number : 29 Question Id : 206205689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, » EQUAL



, « COMPARE
- % CMP

. v COMP

Question Number : 30 Question Id : 206205690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Acrobat Reader or Writer needs to be installed on a PC to open files.

Options:
1 « PDF

> % JPEG
s % ZIP

4 % PNG

Question Number : 30 Question Id : 206205690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TESH FT AT 797 F v o9l (PC) F vene fET o7 TEET I BT BT MTEITE B

Options:

, v PDF
» » JPEG
2 = ZIP

4 % PNG

Question Number : 31 Question Id : 206205691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following DOS commands is used to create the copy of an existing file?

Options:
1 ® CP
5 « COPY

= % DUPLICATE



4 # MIRROR

Question Number : 31 Question Id : 206205691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TEe ¥ AlSg TS F FHAT T4 + fov Eatatad # F FF =19 FAE F1 w39 G s g2

Options:

- v COPY
- » DUPLICATE

. # MIRROR

Question Number : 32 Question Id : 206205692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) The full form of PDF is Portable Document Format.
IT) PDF files cannot be compressed using WinZip.

Options:

, = I-False II - True

> % 1-False, I - False
- % 1-Tme, II - True

4 « 1-True, II - False

Question Number : 32 Question Id : 206205692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 33 Question Id : 206205693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following options is used to open an existing document for editing?

Options:
1 % New

> « Open
= % Saveas

4 B Print

Question Number : 33 Question Id : 206205693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 # New

5 v Open

- % Save as

4 % Print

Question Number : 34 Question Id : 206205694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Press key to get Windows help and support.

Options:
1.+ Fl
-~ % F2

- % F10

4 % F12



Question Number : 34 Question Id : 206205694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
S 2o9 AT O 9= ¥ v FoAl gaTT|

Options:

1 % F1
o ® F2
2 % F10

4 % F12

Question Number : 35 Question Id : 206205695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A note placed at the bottom of a page is called:

Options:
1 % Footer

- « Footnote
= # Endnote

4 % Citation

Question Number : 35 Question Id : 206205695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
9 F = Byg Al # FgT J4T 8

Options:

1 ® 2

, x TS

Question Number : 36 Question Id : 206205696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



What is the keyboard shortcut to exit MS-Word?

Options:
| v Alt+F4

> % Ctrl +F4
z # Alt+F2

4 ® Ctrl+F2

Question Number : 36 Question Id : 206205696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TATH-I2 & ¢ F{a & SHES AcHe T g7

Options:

v Alt + F4
, % Ctrl + F4
s = Alf + F2

4 % Ctrl + F2

Question Number : 37 Question Id : 206205697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A number, letter or symbol which is set slightly below the normal line of text is called:

Options:
1 % Footer

-  Subscript
5 % Superscript

4 = Hyphenation

Question Number : 37 Question Id : 206205697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ATATTT SFES Fr a5 & 917 A= oY Iy arer 376, 398 IT Hehd &I gl AT ¢

Options:

1 ® 2




L, % BT

Question Number : 38 Question Id : 206205698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) Cancel A)Cul+Z
IT) Redo B) Esc
IIT) Undo ) Carl Y
Options:

. v I-B,II-CII-A
o % 1-B,II-AII-C

. % I-AII-CII-B

. % I-C.II-AI-B

Question Number : 38 Question Id : 206205698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

foratafag = &= 11
Te-1 Te-2
) FEer A) Ctrl + Z
) = B) Esc
) 3178 C) Ctrl +Y
Options:
Lo l-B I-C Il -A
owl-B II-All-C

o 1B =8 [l - B



cu =8, -8 0l-B

Question Number : 39 Question Id : 206205699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a valid cell address in MS-Excel?

Options:
1 ® BSl3

> % $B$13
3 % BI13

4 & B$138

Question Number : 39 Question Id : 206205699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=TT § ¥ 7 TAUE-UFa &7 UF THOE Tl USH Adl 87

Options:

> % B13

Question Number : 40 Question Id : 206205700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

th

is the relative address of the cell corresponding to 5™ row and 79 column.

Options:
> % $GS5

3. ¢ G5

4 ® sG

Question Number : 40 Question Id : 206205700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
54 3t HR 73 Hlerw & 3TwT AT H AU TZH @

Options:

3 v G5

Question Number : 41 Question Id : 206205701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Why is it unethical to share copyrighted files without taking permission of the copyright holder?

Options:
; w Itisnotunethical. because it is legal.

- % Itisunethical because the files are being given for free.
5  Sharing copyrighted files without permission breaks copyright laws.

4, % Itisnotunethical because the files are being given for free.

Question Number : 41 Question Id : 206205701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TECATTUgT TECH (RS WEEH) F1 TcaUwn! % RIAT & (A W S aiow w0t g7

Options:

|« TE 3 FE Y i T duw b

- g e g FifF FEew fFeyes & S 2

g W
e wEf & Eeiea SR (FONEE FEeH) & FEEE S9N FEAT # Seawa 7 £

4 % TE HoATh ALl § i FEew e & S &l

Question Number : 42 Question Id : 206205702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



When assumed that the content of cell Al is 16, the value of the Excel expression =SAS1/2 is:

Options:
1 ® 3

o ® 16

Question Number : 42 Question Id : 206205702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

3T A1 B & Fee 16 AT HAT, ar Tado THHIT =$AS$1°2 & AT gl
Options:

1%-58

. 256

Question Number : 43 Question Id : 206205703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The value of the Excel expression =SUM](10, 9. TRUE, FALSE) is:

Options:
1 ® 19

I

> « 20

Question Number : 43 Question Id : 206205703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T TFEY =SUM(10, 9, TRUE, FALSE) &T A &

Options:



o ® 22

g4 ® 18

Question Number : 44 Question Id : 206205704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number of cells in the cell range represented by B2:E7 is:

Options:
1 ® 2

Question Number : 44 Question Id : 206205704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

B2:E7 Z@RT &% 1% B I H T A H HE &
Options:

1 % 2

o ® ?

o ® 14

4 ¢ 24

Question Number : 45 Question Id : 206205705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a network printer interface provided by HP.

Options:
, w Jetprint

- % Jet interface

5 « Jet direct



4 % JetHP

Question Number : 45 Question Id : 206205705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TENT EART 39eeY AT TT Ueh Hedesh el $eihd ¢
Options:
., % SIC $HH

5  SiC BRRFE

g4 # ?IE'E?!'C?I'

Question Number : 46 Question Id : 206205706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
By default, a documents prints in mode.

Options:
, = Landscape

> « Portrait
5 % Page setup

4 % Print view

Question Number : 46 Question Id : 206205706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
7o 79 (Bwlee & /) ¥, T& cFaEe (SagHT) AT # T g B

Options:

1¢3ﬁ§ﬁ;q’
ggqﬁé_{

o ® ﬁ?'@ﬁm



Question Number : 47 Question Id : 206205707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Web authoring software is used to create:

Options:
1 Webpages and websites

> % Web servers

5 % Spywares

4 % Search engines

Question Number : 47 Question Id : 206205707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
g Ui AT FT AT SV g9 F B Sar T

Options:

| v TS AT JEEH
2_& éﬁ‘qﬁ
L« TAEITH

, » T FeH

Question Number : 48 Question Id : 206205708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A specially designed website that often serves as the single point of access for information is known as:

Options:
1 #% Web server

-  Web portal
= % DBrowser

4 % Spider

Question Number : 48 Question Id : 206205708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



frehy w9 o = & % dwErEe F NFET FASET e o ¥ B e o F v 7 I

Options:

1 ® éﬁ;qéq
gfaﬁ-th_é?’r
E_QM

, x TEST

Question Number : 49 Question Id : 206205709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A company that provides access to the Internet is called:

Options:

1 v ISP

> % TCP
= % UDP

4 % IP

Question Number : 49 Question Id : 206205709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

2aIAT T TET 91 I dTell F9aT FEAdr 8
8

Options:

| » HSTEI (ISP)
, » S (TCP)

3T (UDP)

5 ®

4 % S (IP)

Question Number : 50 Question Id : 206205710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To change selected text to all capital letters, one has to click the change case button. and then click:

Options:



1 Uppercase

- » Upperall

5 » Caps lock

4 » Lockupper

Question Number : 50 Question Id : 206205710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TS ST (G F R e e A s A e s AT e e SR A W
w5 g, At 3o aE w1 @ew L gl

Options:

| v FIGRE
o R M-}ﬁﬁ
z ® #‘THHEI%F

4 ® FIUF:I-TBTQT

Question Number : 51 Question Id : 206205711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I Links between different webpages or between sections of the same page are called hyperlinks.
) The main page or index page of a website is known as home page.

Options:
1 ¢ 1-Tre, II-True
5 % L- False. II - True

z % 1-False II - False

4 % 1-Tre, TI- False

Question Number : 51 Question Id : 206205711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



T T 30T FY7 F7 9397 FI

) ffes d999 o1 e v o= & frmt & 99 O & grewfes e e g
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Options:
Lol -\a, - Fe

o x| - 3@, |l - T
2w | - 3T, |l - FET

L x| -FeT, Nl - 3T

Question Number : 52 Question Id : 206205712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

SET-1 SET-2
I) Opera A)) 32-bits long
IT) IP address B) Search engine
IIT) Bing C) Browser
Options:

, » I-C.II-AII-B
, w [-C.II-B.II-A
2 % [-AII-B.II-C

. % I-AII-C.II-B

Question Number : 52 Question Id : 206205712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Frata@a &1 fea F:1
Te-1 Te-2
) 3 A) 32-Re F=T
Il) smsdr w3w B) ¥ 51
1)y e C) 13T

Options:



el -C -
,ow 1 -C, |l -
Sw l-A -
Low l-A -
Section Id :
Section Number :
Section type:

A, lll -B
B, Ill - A
B, Il -C
C,lll-B

Mandatory or Optional:
Number of Questions:
Number of Questionsto be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Question Id : 206205713 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (53

Sub-Section Number:
Sub-Section | d:

Question Shuffling Allowed :

to 57)

Cuesticon Label | Comprehension

READING COMPREHEMSION

20620594
2

Online
Mandatory
1

1

5

Yes

No

1
20620594
Yes



Read the following passage and answer the questions based on it.

A remarkable feat was aclhieved m the history of Indian Omithology.
with a Mumbaikar having travelled the enfwe country. 80.000 km. to
record 1.128 bird species. This mchides rare ones like the Himalayan
Forest Thrush. Tibetan Lark. and Chmese Francolm.

Wildlife biologist, Shashank Dalvi was on the project “*big vear”. Under
this challenge. promoted by Comell Umversity. birders take up a
geographical location to record its bird diversity. Dalvi 1s the first Indian
to map the counfry’s entre coastlne. ramforests. sanctuaries and deserts
to record bird species.

Such exercises are mportant m view of shrimking wildhite habitats and
clmate changes. With temperatures rismg. these species may be lost
forever m a few years. The data collated through such efforts can inforin
us of ther changing migration and distribution patterns through seasons.

India 15 among the 12 ‘mega-bird diversity countries of the world” with
an estinated 1.314 species. Over 13 % of the world’s birds are found n
India. as per Mumbai Natural History Society. Of these. 150 have been
seen only once or twice m the history of bird sightmg m India.

Dalvi undertook this feat from 1 January-31 December 2015. He spent
four months m India’s Northeast - the richest belt housmg about two-

thirds of India’s bird dversity.

He spotted several species here like Lord Derby’s Parakeet and Gould's
Shortwmg m eastern most parts of Arunachal: Burmese Shrike m
Nagaland and Chmese Francoln m Manipur. In Kargil. Dahi spotted the
Long Billed Bush Warbler. not seen m India since 1977. He saw Tibetan
Lark m Ladakh and the Rufous-vented Primia m Punjab.

Another large bird reserve Dahi found was m the Andaman and Nicobar
islands. Among his spottings were the Nicobar Jungle Flycatcher.
Central Nicobar Serpent Eagle. Arctic Warbler etc. A certam category of
bwds. called “Pelagic’ or ‘offshore’ birds. needed hmm to travel beyond
the beaches of Kerala and Kamataka. There he sighted Storm Petrels.
Skuas and Shearwaters.

He made it to the Desert National Park. Rajasthan. st m time to spot
seven-odd species of nugratory birds. These mchide the Spotted
Flycatcher. European Nightjar and the Great White Throat.

He said. “Several birds I saw are m the hst of ‘Threatened Species’. With
this documentation. we will certamly understand them better and they
will remam m our memories.”

Sub questions



Question Number : 53 Question Id : 206205714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The remarkable feat achieved by Shashank Dalvi
was that he

Options:
= travelled 80,000 km across India

recorded 1,128 bird species by travelling all over

> « the country

5 % saw the rarest species of birds

4 ® Worked on the project, “Big Year”

Question Number : 54 Question Id : 206205715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does the phrase ‘such exercises’ refer to?

Options:
, « Recording or documenting bird species.

> % Iravelling all over the country.
5 » Mapping the country’s entire coastline.

4 » Collating data.

Question Number : 55 Question Id : 206205716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Shashank Dalvi belongs from which of the
tollowing places?

Options:
1 % Nicobar

> % Ihe Himalayan region

3 « Mumbai

4 % Tibet

Question Number : 56 Question Id : 206205717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
In what respect is the Northeast belt of India the
richest?
Options:

The bird, Lord Derby’s Parakeet belongs to this
, % part.

-~ % Ithouses all the species of birds.

Two-third of the Indian species of the birds are
= « found there.

4 % Vveryrare birds are seen there.

Question Number : 57 Question Id : 206205718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The category of ‘Pelagic” or offshore birds can be
spotted in:

Options:

, w Rajasthan

> % Ladakh

5 » Nagaland

4 « Karnataka and Kerala

Question Id : 206205713 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 206205714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IIeMeh Eoral I Ageaqur 39eite I8 off ok
3

Options:

| % ¥R #RA # 80,000 AT @msT Fr o)

T 29T F IS FIF 9i8ar Hr 1,128
gfqaﬁma#rﬁi?rl

|, T i geir ettt @ g e

.« ‘T g3 af@dser @ Fe T an

Question Number : 54 Question Id : 206205715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

VH F T FHET Feorm FLAT 272

Options:
gfgrat $r genfaat & g a1 ZEaEsT
1« hldl]
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Question Number : 55 Question Id : 206205716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

e g T A T B e &
& are 872
Options:

1_5&%“



Question Number : 56 Question Id : 206205717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HRT F 3ccR-TET 87 R §ey # waE 82

Options:
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Question Number : 57 Question Id : 206205718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘renferes I1 3{THAT T F ITETT HT TgT &&T AT T 2
Options:

1 = IT=THTA

CUANTITATIVE APTITULE

Section Id : 20620595
Section Number : 3

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6

Number of Questionsto be attempted: 6



Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 20620595
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 206205719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Evaluate the following expression.
7+-20=145x17.3

Options:

1« 5017

Question Number : 58 Question Id : 206205719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=T a#eRor #1 Jearea #L
?+20=145 = 173

Options:

| v 5017

., % 125.425
5 % 12.5425

, = 1254.25

Question Number : 59 Question Id : 206205720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The cost prices of two books are same. One book is sold at a profit of 453% and the other is sold at a loss of 17%. Find
the overall profit percentape.

Options:

1 14%



> % 20%
s % 17.72%

4 % 12.67%

Question Number : 59 Question Id : 206205720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ar foramat & T HeT FUET B TF 45% WY AR gEY 17% @i 9% S S g1 Fe e
wferRra a1

Options:

| v 14%
, = 20%
s % 17.72%

4 % 12.67%

Question Number : 60 Question Id : 206205721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The sum of six consecutive numbers is 345, What is the product of the smallest and the greatest numbers?

Options:
1 ® 3150

> % 3200

Question Number : 60 Question Id : 206205721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
OF FHET FEATHT &7 T=T 345 2 mtﬁﬁ}hmﬁ'@rmﬂﬂgummm T Y

Options:

, % 3150

. % 3200

- % 3250



. v 3300

Question Number : 61 Question Id : 206205722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A sum of T 550 was taken as a loan. This is to be repaid in two equal annual nstallments, [ the sate of inferest {5 2084
compounded annually, then the value of each installment is:

Options:
; # T486

> % T 456
2 « T 360

4 % T250

Question Number : 61 Question Id : 206205722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T 550 & O muT & w9 A o | $W of Ates Rhedl # g 7 AR Seqle = g7 20% At g A
gei T T AF9 F gem?

Options:

| % T486
, = T 456

< 360

W
%

. T250

Question Number : 62 Question Id : 206205723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average salary of all the male emplovees in a company is Rs. 25000, whereas that of female employees is
Rs. 17000. If the average salary of both male and female employees is Rs. 20000, then what is the ratio of males
to females?

Options:

i R
o 315
z ® 203



Question Number : 62 Question Id : 206205723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
et =l & wel gew s & Hiee d0w T25000 B, 9§ Afen sswmna & e 39w 117000 B
afe 7o i AfeT & ST st dEE 2 20000 @, o qwt W ARt @ s w e

Options:

T -5
s
=% 2:3
g3 ;2

Question Number : 63 Question Id : 206205724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ihe area of a rectangedar feld is 3584 m and it length and breadth aré in the ratio 7 @ 2. What s the perimeter of the Tield?
Options:

1 ® 246m

> % 292 m
= % 280m

4 « 288m

Question Number : 63 Question Id : 206205724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
vH A A5 1 SEET 3584 T ey ¥ N suh dag aw dted & osETe 7 2§ 5F da
T gfATT T g7

Options:

1 ® 246 Iﬁ?{
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. v 288 #Hrex



GEMERAL MENTAL ABILITY AND REASONING

Section Id : 20620596

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 20620596
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 206205725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
How many meaningful 3 leter word( ) can be formed by using the letters ECENS (using each letter only once moa word j?

Options:
1 & One

~ % Two
5 % Three

4 % More than three

Question Number : 64 Question Id : 206205725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1.« TP

2_&331:"
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Question Number : 65 Question Id : 206205726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Select the option that is related to the third term in the same way as the first term is related to the second term.

BLOCEKED : YOLXPVW : :?7: OZFMXS
Options:
, % DEBATE

> % RESULT
s ®# LABOUR

4 v LAUNCH

Question Number : 65 Question Id : 206205726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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BLOCKED : YOLXPVW : : 7 . OZFMXS
Options:

. » DEBATE
, » RESULT
- » LABOUR

. v LAUNCH

Question Number : 66 Question Id : 206205727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Manoj started from Point A and walked 18 m towards north, He then took two consecutive left turns and walked S m
atter taking sach mrn. He again took a left turn, walked 5 m and reached point C. How far is point A fhom point C?

Options:
1 % 15m
> % 5m

z & 13m

4 % 23m

Question Number : 66 Question Id : 206205727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 67 Question Id : 206205728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ram is the onlv son of Sushma, who is the only daughter of Rajesh. Radha is the mother of Rakesh and daushler-m-law
al Sushema, How 1z Bakesh related 1o Sweshma?

Options:
1 ® Son

> % Mother
= % Grandmother

4 « Grandson

Question Number : 67 Question Id : 206205728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 & 2
o R Fﬁ-
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Question Number : 68 Question Id : 206205729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



According to the given Venn diagram. how many people travelled through train?

Traveled through Taxi

Traveled through Bus

O
O
A

Traveled through Train

Options:
1 ® 21

Question Number : 68 Question Id : 206205729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 ® 21
e 24
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Question Number : 69 Question Id : 206205730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A statement followed by two conclusions is given.

Select the conclusion that follows from the statement, assuming evervthing in the statement to be true.
Statement: A<B=C.C= D=E

Conclusion:

1. BEXE
II. C=E

Options:

, » Only conclusion I follows

> % Only conclusion II follows

- # Either conclusion I or II follows

4 « Neither conclusion I and II follows

Question Number : 69 Question Id : 206205730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Section Id : 20620597

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 20620597
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 206205731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Hariprasad Chaurasia is a renowned player.

Options:
1 % Tabla

> % Sarod
3 « Flute

4 % Shehnai

Question Number : 70 Question Id : 206205731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

L x TR

Question Number : 71 Question Id : 206205732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
World Alzheimer's Day is observed every year on

Options:



, = September 20

o  September 21
5 % September 25

4 % September 10

Question Number : 71 Question Id : 206205732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

Question Number : 72 Question Id : 206205733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following personalities has been honoured with the Saraswati Samman 20167

Options:
1 % Harivansh Rai Bachchan

Manoj Das

M2
-

5 % Govind Mishra

4 « Mahabaleshwar Sail

Question Number : 72 Question Id : 206205733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 73 Question Id : 206205734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o

Who ameongst the following became the first woman cricketer ever to complete 6300 nms in Cne Day Internationals?

Options:
, « Mithali Raj

> % Mansi Joshi

- % Shikha Pandey

4 % Poonam Yadav

Question Number : 73 Question Id : 206205734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| v g =

= % TI@T 9UsY

YA dlcd

4 ® =

Question Number : 74 Question Id : 206205735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many gold medals did Michael Phelps (Swimmer) win in 2008 Beljing Olympics?

Options:
1 ® 6

2_3«3?



Question Number : 74 Question Id : 206205735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST 3w 2008 F AEFST $hood (%) 7 Bhas 90T Jew I 2

Options:

1.%-36

Question Number : 75 Question Id : 206205736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the author of the book ‘My Frozen Turbulence in Kashmir’?

Options:
1 %= M. I Akbar

5 o Jagmohan

o % Anees Jung

4 % Nissim Ezekiel

Question Number : 75 Question Id : 206205736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT BIFA T9erd g7 FWHR (My Frozen Turbulence in Kashmir) S¢d® & o1& i 82

Options:

, % TH. S 3FS (M. J. Akbar)

. » EHARBS (Jagmohan)

, » 3 ST (Anees Jung)



, « =EH ZAfFT (Nissim Ezekiel)
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Group Number : 2

Group Id : 20620562
Group Maximum Duration : 5

Group Minimum Duration : 5

Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 1
Mandatory Break time: Yes
Group Marks: 0

English Tvping Test

Section Id : 20620598

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 20620598
Question Shuffling Allowed : No

Question Number : 76 Question Id : 206205737 Question Type: TYPING TEST Display Question Number : Yes
Wornens History Month is an annual declared month that is traditionally held in March, but the study of
woITens history is valuable all twelve months of the year. Women hawve overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.

Restricted/ Unrestricted: Unrestricted

Par agraph Display: Yes

Evaluation Mode: Non Standard

Keyboard Layout: Inscript

Show Details Pandl: Yes

Show Error Count: Yes

Highlight Correct or Incorrect Words: Yes

Allow Back Space: Yes

Show Back Space Count: Yes

Actual
Group Number : 3
Group Id: 20620563

Group Maximum Duration : 15



Group Minimum Duration : 15

Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 0
English Typing Test
Section Id : 20620599
Section Number : 1
Section type: Typing Test
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questionsto be attempted: 1
Section Marks: 0
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 20620599
Question Shuffling Allowed : No

Question Number : 77 Question Id : 206205738 Question Type: TYPING TEST Display Question Number : Yes

Young brains can be easily influenced and shaped up. The things learnt at an early age always form the base
of an individuals true nature. Getting engaged in a beauty course is one such art that has too rmuch to give to
its learners. Many individuals from across the world now prefer to enroll in a beauty school to learn different
useful fundamentals of the beauty industry. Honestly speaking, it is an inspiring medium for the new
generation. Parents can enroll their children in any of the renowned beauty schools that are near to their
homes. This can be the best experience of their lifetime which they could cherish forever. The beauty schools
hawve all the modern equiprnents teaching the students. They also have a staff of well trained and dewvoted
faculty who enjoys in teaching their students. Students here learn their first lesson of concentrating by
listening keenly to the instructions given by the instructors and then further applying them with the help of
the equiprnent. Next very imnportant lesson they learn is to work in a team. Thus they understand how every
action is been carried on successfully simply by having faith in each other. Learning beauty skills has becorme
today as a good rewarding opportunity in a highly demanding environment. This is a kind of activity that one
can develop and improvise without expecting to make a career in the field. One can also simply enjoy the
morments while been in the process of implermenting techniques of hairdressing and other beauty care
operations. Not only beauty schools focus on helping participants to learn various vital fundamental, but they
also encourage them to be aware of the brighter scope of this industry. Some of the points covered in such
schools are appreciating the beauty with sorme beautiful words is something that every student is taught by
the faculty of such schoocls. It is also their responsibility to assist students learn on how to help individuals
look gorgeous with the implementation of right amount of beauty products. They advise you to look beautiful
always since people trust only on those beauticians who look confident and good locking. As a part of a
beauty school you also get a chance to learn various procedures that can help you to Ccreate or enhance beauty
artificially. The complete range of technical skills is imparted to students ranging from giving a thorough
knowledge on various facial treatment options to providing learning opportunities for different hair treatrnent
and styling skills. Students are also taught about sales and marketing, refined people skills and the
fundamentals of psychology. Such skills help to build a positive attitude and aid thern to have an improved
self confidence.
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